
Subject: Re: NooBee Question
Posted by Dean Kukral on Thu, 27 May 2004 21:17:52 GMT
View Forum Message <> Reply to Message

Thanks.I got to thinking that a resistor in series and one in parallel would attenuate the level of the
drivers without changing the resistance in the crossover design.  I did not know what the design of
an "l-pad," was, but the reference you gave makes that obvious!I wonder what the mathematical
model is that they use to make the calculation to figure the drop in acoustic power.  They probably
ignore frequency.
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